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26. The eigenvalues of the matrix A= | 0
1

27.

. Given the function f(z) =

SECTION - B

are

S o= O
—_ D =

(A —1,0,2
(B -1.1,2
@) 0,1,2

The value of the contour integral

V/;dz e X

along ¢ shown in the figure is

(A 2 (~4,-%) (4,-4
(B 2v3

@ -2 |

D) 0 :

. The function

has

(A a first order pole at z == 0 with residue equal to 0
(B) ne pole at 2=0

(&) a seccond order pole at 2 = 0 with vesidue equal to 1
(B! a first order pole at z == 0 with residue equal to 2

2

given by

(A foglx
(®) fogle
(&} foglx
(D) foglz

=z, go flzx) =x*?
%2 | g o flx) = £

z, 90 flz)=la|

T,g0fl(z)=zr
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A, LI

T hs~

. g{x) = /., the compositions f o ¢ and g o f arc
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